
1 / 19

12

6

9 32.5 h

100%

COTTON

Ø8

ESPADA 10G0--21



2 kg

2 kg

2 kg2 kg

15L

15L

13L13L

12R14R

12b

15R

15R

13R13R

2 / 19

3,4

1,2

5

6

7

8

9

2/3

1/3

3/3

2/3

3/3

3/3

3/3

1731

660

231

660

255

144

420

420

382

382

250

382

2

2

1

1

1

1

2

10

12L,12R

11

3/3

2/3

2/3

2/3

1317

368

654

654

654

382

380

322

378

196

1

2

1

212b

15

16

19

15L,15R

17

20a

20b

21

14L,14R

3/3

3/3

3/3

3/3

2/3

352

654

100

350

669

180

159

2

4

2

4

1

13
13L,13R

2/3

3/3

2/3

1/3

1/3

2/3

611

611

622

382

352

663

420

1701

100

180

100

669

105

15

52

2

4

2

2

2

2

B - 1731mm

T -   420mm

H -   795mm

B

H

T

PACZKA:
COLLI:

BESTEHEND AUS COLLI1
SK£ADA SIÊ  z PACZKI1

Front: 1/1Korpus:Aussen Haveleiche Cognac Nb., innen Matera
Haveleiche Cognac MDF, Metallgestell graphit

m
3

kg

MODELL: MANHATTAN

40 23 VV 21
TYPE 21

66

0,575

Modell-Nr

Nr Modelu

DATUM:
SERIE NR:

DATA:
NR SERII:

GEW.:

VOL.:

KUBA.:

MASA.:

Werk:MM42

Zak³ad:MM42

4
2

5
1

4
4

9
1

1
1

8
2

6

15

15

1313

16

16

1616

1

2

7 89

10

11

17 17 19

4 kg

3

4

5 6

21

20 kg

12L

12L

14L

14L

12b

20b

20a
20a

x2

12R

14R

11
SQ2

ESPADA 10G0--21



0 10 20 30 40 50 60mm

NR 2

NR 1

x28f 8x28

B1

x26
T1

5x39mm

+

x30
M1

f15x12mm

NR 5NR 3

NR 4

3 / 19

x6f20mm

C14

x4
W1

x16
J23

NR 7

NR 6

x2

x2

T13

T14

6x50 mm

8x50 mm

3,5x13 x4
P13

x2

J11

E3

6,3x13 x4

4x13

S8

x4

3x20 x14
P2

x1

x2

Z5

Y1

x2

x2H2

D6

f 35

C 2/3

C 1/3

x126,0x11

4x30 x16
P5

x12

+M2

x12
T2

5x35mm

f12x10mm

x4L/4R

Q35

L-350mmm

E24

KR-15

U104

x5

M4x18 x10
A43

x6
F1

x1
G7

S4

x64x25

S26

21

x8
G4

4x16 x8
P16

6,3x16 x8
E18

x2

T18

L-64

x4
F338

L-338

3x13 x8
P10

x1
HOM'IN
JUNGES EINRICHTEN

®

MAX 15W

O21

x1MAX 6W

x2

SQ2

ESPADA 10G0--21

6x8 x12
E2

5040302010 60 70
M6x25

G25

M6x25 x4
G25

NR 8



1

4 / 19

T1T2

T1

T1

T1

T1

T1
1

180°

1

1

S26

S26

S26

S26

S26

x8
T1

5x39mm

x1
G7

S4

x64x25

S26

M6x25 x4
G25

G25

G25

G25

G25
G7

G7

20a

20a

20b

20b

S26

20b

20b
20a

20a

E18

E18

6,3x16 x8
E18

21

21

x2

21

ESPADA 10G0--21



2

5 / 19

T1

T1

T1

T12

x8
T1

5x39mm

+

B1

M1

+

+

M1M2

+

B1

+

+

B1

M1

7

+

+

B1 M1
+

+

+

+

B1

M1

W1

4

E3

D6

x6f 8x28

B1

+

x6
M1

f15x12mm

x2
W1

x2H2

D6

E3

6,3x13 x4

ESPADA 10G0--21

T1T2

T1



3

6 / 19

T1

x2
T1

5x39mm

T1T2

T1 +

B1

M1
+

+

M1M2

x8f 8x28

B1

+

x8
M1

f15x12mm

B1

+

+

M1

+

+

M1

B1

+

+

9a

9

9b

T1

B1

+

+

M1

+

+

M1

B1

+

+

9b

180°

x2

x2

SQ2

SQ2

SQ2

SQ2

330 mm

330 mm

ESPADA 10G0--21



4

7 / 19

+

+

M1M2

x8
T1

5x39mmx8f 8x28

B1

+

x8
M1

f15x12mm

T1T2

+

B1

M1

T1

T1
T1

T1
T1

x2
W1

x66,0x11

E24

+

+

+

+

B1
B1

M1
M1

+

+

+

+

+

+

+

+

B1
B1

M1
M1

W1

E24

E24

x1L

Q35

E24

E24

x1R

Q35

3

180°

6

6

x1L/1R

Q35

L-350mmm

ESPADA 10G0--21



5

8 / 19

x8f 8x28

B1

+

x8
M1

f15x12mm

+

+

B1

M1
+

+

+

+

B1

M1

5

5

180°

180°

+

+

+

+

B1

B1

M1
+

8

8

x2R

Q35

x2R

Q35

L-350mmm

ESPADA 10G0--21

+

B1

M1

+

+

M1M2

6x8 x6
E2

E2

E2

!

!



6

9 / 19

++

+

+

+

+

++

II

II

0 -180

0 -180

0 -180

0 -180

O

O

O

O

I

I

O

O

O

O

x1 x1

T18 T18

L-64 L-64

+

+

+

+

+

+

+

+

+

+
+

+

+

+

T18

+

+

+

+

7

1

1

2

2

3

3

3

5

7

+

+

+

+

T18

+

+

+

9a

9b

T18

T18

7

9a

9a

9b

8

SQ2

SQ2

ESPADA 10G0--21



+

+

+

+

+

+

+

+

+

10 / 19

8 9

+

+

+

+

+

+

+

+

+

+

+

+

6

3

+

+

+

+

+

+

+

+

1

4

+

9a

9b

ESPADA 10G0--21



+

+

+

+

11 / 19

10

+

+

+
+

+

+

+

+
+

+

+
+

+

+

1/2

1/2

1/2

1/2

1

9a

36 9b

11

3
6

9a

9b

17
17

19

2

!

SQ2
SQ2

SQ2

17

ESPADA 10G0--21



12 / 19

12

90
o

1

2
A=B

90
o

13

3

19

17

17

3

SQ2

SQ2

ESPADA 10G0--21

J23

21 3

P2
P2

P2

P2

11

10 9

x16
J23

J23

3x20 x14
P2

x6
F1

F1

F1

19

17

17

3

SQ2

SQ2

A

B



+

+ +

13 / 19

14

x2

x2

T13

T14

6x50 mm

8x50 mm

3,5x13 x4
P13

x2

J11 J11

8f

4 6 75

J11

P13
J11

T13

T14

1

+
+

+

+

+

+

+
+

+

+

~105mm21

2

3

SQ2

ESPADA 10G0--21

!



14 / 19

1615

T2

T2

+

A=B

T2

+

+

M1M2

T1T2

T2

T2

+

+

M2

M2

+

+

x4

+M2

x4
T2

5x35mm

f12x10mm

15

15L

15R

16

+

B1

M2

+

+

+

A

B

90
o

15L

15R

15

14L

14R 14L
14R

x2

x2

x2

x2

x2

4x30 x8
P5

x2
F338

L-338

3x13 x4
P10

F338

P10

max.

max.

min.

min.

ESPADA 10G0--21

!

16

15L

15R

15 P5

P5

P5

x2

+



16 17
+

+

A=B

T2

+

+

M1M2

T1T2

x8

+M2

x8
T2

5x35mm

f12x10mm 4x30 x8
P5

+

B1

M2

+

+

+

A

B

90
o

13

15 / 19

+

+

+

M2
13L

+

+

+

M2

13R

T2

T2

T2

T2

max.

max.

min.

min.

12L

12L

12R

12R

12b

12b

12b

G4

P16

P16

x2

x2x2

x2

x2

13L

13R

13

16

x8
G4

G4

G4

4x16 x8
P16

P16

P16

F338

P10

x2
F338

L-338

3x13 x4
P10

ESPADA 10G0--21

16

13L

13R

13 P5

P5

P5

x2

+



Z5

!

16 / 19

18 19

Y1

Y1

Y1

S8

S8

Y1

Z5

4x13

S8

x4

Y1

x2

f 35

KR-15
x1

Z5

+

+ +

+
+

+

+

+

+

+
+

+

+

x3L/1R

Q35

L-350mmm

x2L x1R

Q35

Q35

E24

E24

11

ESPADA 10G0--21

6x8 x6
E2

!

5

x1L

Q35

E24

E24

x66,0x11

E24

5 83 6!
E2

E2



+

+ +

+
+

+

+

+

+

+
+

+

+

17 / 19

20

C14

+

C14M1

x6f20mm

C14U104

x4

M4x18 x8
A43

1

2

3 U104

U104 U104

U104U104

A43

A43

1

2

2

!

front

front

U104

12L 12R

14R
14L

12R14R

14L 12L

ESPADA 10G0--21

x1
HOM'IN
JUNGES EINRICHTEN

®

HOM'IN
JUNGES EINRICHTEN

®HOM'IN

JU
NGES

EIN
RIC

HTEN

®
HOM'IN

JU
NGES E

IN
RIC

HTE
N

® HOM'IN
JUNGES EINRICHTEN

®

5
0
 m

m
~



+

+ +

+

+

+

+

+

+

10

11

18 / 19

1

2

4

Y1

D6

3

U104A43

A43

1

2

2

!

front

front

U104

U104

x1

M4x18 x2
A43

21

Z5

MAX 15W

O21

x1MAX 6W

SQ2

SQ2

O21

SQ2

ESPADA 10G0--21

%

4 kg

20 kg



%

19 / 19ESPADA 10G0--21



12


